SECOND YEAR HIGHER SECONDARY EXAMINATION

Part — 111

Time : 2 Hours

CHEMISTRY Cool-off time : 15 Minutes

Maximum : 60 Scores

9.

Answer any 4 questions from 1 to 5. Each carries 1 score.

. Desalination of sea water isbasedon ......................
. The order of photochemical reaction is.
@1l (0 ()2 (d)3
. Calculate the magnetic moment of Ni2*
(Z=28)
. Metal present in Vitamin B2 iS...................
. Which of the following undergoes Cannizaro reaction?
(a) CH:CHO (b) CH3COCHs3 (c) CH3CH.CHO

Answer any 8 questions from 6 to 15. Each carries 2 scores.

. (@) Write the anode and cathode reactions in Daniel cell
(b) Write the Nernst equation for the above cell
. What is Pseudo first order reaction?
Write one example
. Which is more basic. La(OH) 3 or Lu(OH)3?
Justify Your answer.
Give 1.U.P.A.C name for the following Co-ordination compounds.
(1) K2 [NiClg]

(ii) [CoClL(en):]CI

1

0.Write the main product obtained in the following reaction

(a)CHg—CHg—CII-|—CH3 alc.KOH

heat
Br
(b) CH3-CH,-CH,-Cl Nal
Acetone , A

(4x1 = 4)

(d) HCHO

(8x2 = 16)
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(a) CHsCHO (b) CHsCOCHs (c) CHsCH.CHO (d) HCHO
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(i) K2 [NiCly] (1)
(ii) [CoClz(en)2]Cl (1)
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(a) CH3-CH»-CH-CHj5 alc.KOH 1)
| heat
Br

(b) CH3-CH,-CH>-Cl Nal (1)

Acetone , A



11. Aryl halides are less reactive towards nucleophilic substitution reactions. Why ?
12. Explain Williamson's Synthesis
13. Complete the reaction.

\ CONHNO; 1)

»

dil. HNO; (1)

OH

v

14. Explain Carbylamine reaction

15. Match the following (1/2x4)
A B
(1) Lactose (a) Polysaccharide
(ii) Starch (b) Non Reducing sugar
(iii)Fructose (c) Reducing Sugar
(iv) Sucrose (d) Monosaccharide
Answer any 8 questions from 16 to 26. Each carries 3 scores. (8x3 = 24)

16. The Boiling point of benzene is 353.23 K. When 1.8 g of a non-volatile solute was
dissolved in 90g of benzene, the boiling point is raised to 354.11 K. Calculate the molar mass

of solute (Kp for benzene is 2.53 K Kg mol™?)

17.
4004
E
g
cé_zon-
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B
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<V'2/mol/L)12
(a) Identify the strong and weak electrolyte from the above graph Q)

(b) How the molar conductivity varies with dilution for strong and weak electrolytes  (2)
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18. (a) What is half life period of a reaction? 1)
(b) Derive an expression for half life period of first order reaction. 2
19. The rate constant of a reaction at 293 K is 1.7x10° s™X. When the temperature is increased

by 20 K the rate constant increase to 2.57x 108 s™. Calculate Ea and A of the reaction.

20. (a) Transition metal forms alloys. Why? 1)
(b) Explain the preparation of KMnO4 2
21. Explain any three structural isomers of co-ordination compounds with examples.
22.(a)Write the main difference between SN* and SN2 mechanism. 2
(b) Chloroform is kept in dark coloured, bottles. Why? 1)
23.Describe the following
(a) Aldol Condensation 1)
(b) Stephan Reaction. 1)
(c) Etard Reaction 1)
24. How will you bring the following conversions?
(a) Benzene ——» Benzaldehyde 1)
(b) Ethanal ——  Ethane 1)
(c) Aceticacid — Chloroacetic acid 1)

25. What is Hinsberg reagent? How will you distinguish between primary, secondary and
Tertiary amines using this reagent?

26. Differentiate between fibrous and globular proteins with example.

Answer any 4 questions from 27 to 31. Each carries 4 scores. (4x4 = 16)

27.(a) Which type of deviation is shown by a mixture of ethanol and water . 1)
(b) Give reason for this type of deviation shown by the mixture. (1)
(c) Draw the Vapour Pressure -mole fraction graph for the above mixture. (2)
28. (a) What are fuel cells ? 1)
(b) Represent H.-O> fuel cell diagrammatically. 1)

(c) Write the half cell reactions taking place in the cell (2)
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29. (a) Draw the d orbital splitting in a tetrahedral crystal field

(b) Explain the bonding in metal carbonyls

30. (a) How will you distinguish 1°, 2° and 3° alcohols using Luca's test
(b) Identify A and B in the following reactions

dry ether
HCHO + CHsMgBr » A+ Mg(OH)Br
H-0
CHs
dry ether I
B+ CH: Mg Br —»  CHas- CH-OH + Mg(OH)Br
H-0

31.Complete the following reactions.

NaOH+CaO
(a) CH3sCOOH >
heat
H+

(b) CH3COOH + CH3OH

v

P05

v

(c) 2CH3COOH
A

PCls

v

(d) CHsCOOH
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dry ether

HCHO + CHsMgBr » A+ Mg(OH)Br
H-0
CHs
dry ether I
B+ CH2> Mg Br » CHs- CH-OH + Mg(OH)Br 2
H-0
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NaOH+CaO
(a) CH:COOH >
heat 1)
H+
(b) CHsCOOH + CH30H > 1)
P20s
(c) 2CHsCOOH —> 1)
A
PClz
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(d) CHsCOOH (1)
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HARILAL M, HSST CHEMISTRY,ST JOSEPH’S BHSS KOZHIKODE
ABULLATHEEF N P, HSSTJR. CHEMISTRY, MMVHSS PARAPPIL
ABDUL HAKKIM R M, HSST CHEMISTRY, CGVHSS CALICUT-3
KUNHI MUHAMMED T, HSSTJR. CHEMISTRY,GVHSS KUTTICHIRA
NIDHEES BABU.G, NVT CHEMISTRY,GRFTHSS VHSS BEYPORE
SANTHOSH KUMAR K.V HSST CHEMISTRY, SPBHSS RAMANATTUKARA
PRIYA K, HSST CHEMISTRY, GGVHSS FEROKE

VEENA N SENOY, HSST CHEMISTRY, GGVHSS FEROKE

CHETHANA K, HSST CHEMISTRY,GHSS AZCHAVATTOM

10. ANJALI V, HSST CHEMISTRY,GAGHSS CHALAPPURAM

11. MUHAMMED SHAFEEQ K, HSST CHEMISTRY,FAROOK HSS

12. RANDEEP P R, HSSTJR. CHEMISTRY,SRM HSS KALLAI



